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SINGAPORE PRIMARY MATHEMATICS

PLACEMENT TEST 4B

	Name: 
	
	
	
	  Marks: _____ / 100

	Date:
	
	
	
	

	Section A ( 30 Marks )

Questions 1 to 15 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided. 



	1.
	In 59,006, the digit ‘5’ is in the ________ place.

(1) ones

(2) hundreds

(3) tens

(4) thousands
	(          )



	2.
	Arrange in descending order.
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	(          )

	3.
	Complete the sequence: 

54.35, 51.15, 47.95, ________
(1) 41.25
(2) 44.75

(3) 50.25
(4) 50.75

	(          )

	4.


	Round off the answer of    75.37 + 59.21    to 1 decimal place.

(1) 134.6
(2) 134.5
(3) 134.4
(4) 134.8
	(          )

	5.
	Find the product of 253 and 12.

(1) 265
(2) 506
(3) 241
(4) 3036
	(           )


	6.
	Which of the following is a factor of 12 and 21?

(1) 2

(2) 3

(3) 4

(4) 5
	(           )

	7.
	The graph shows the number of tourists coming to Singapore on a particular week.  On which day was the number of tourists the highest?













(1) Tue

(2) Wed

(3) Thu

(4) Fri


	(           )

	8.
	9 h 35 min - 2 h 45 min = _______ h _______ min

(1) 6h 55min

(2) 6h 50min

(3) 7h 95min

(4) 7h 55min


	(           )

	9.
	Express  4 +
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 as a decimal. 

(1) 43.6

(2) 43.60
(3) 4.36

(4) 4.036

	(           )

	10.


	A rope 26.52 m long is cut into 6 equal pieces.

How long is each piece?

(1) 4.42 m

(2) 40.42 m

(3) 3.24 m

(4) 159.125 m


	(           )


	11.
	The area of a square is 144 cm2.
Find its perimeter.

(1) 12 cm

(2) 24 cm

(3) 48 cm

(4) 50 cm
	(           )

	12.
	Which of the following does not show a 4-sided shape?

(1)                                            (2)


(3)                                            (4)



	(           )

	13.
	Jaison saved $144.70 in a week.  In how many weeks will he be able to save $1012.90? 

(1) 4
(2) 5
(3) 6
(4) 7
	(           )


	14.
	 57yd 2 ft. x 5 = _______ ft.

(1) 286 ft.

(2) 287 ft.

(3) 865 ft.

(4) 2860 ft.

	(           )

	15.


	A cuboid measures 32 cm by 25 cm by 5 cm.

Find its volume. 


(1) 62 cm3
(2) 2510 cm3
(3) 3750 cm3
(4) 4000 cm3

	(           )


	Section B ( 40 marks )

Questions 16 to 35 carry 2 marks each. For each question, write the answer on the space provided. 



	16.
	How many line(s) of symmetry are there for the following shape?





	17.
	Write 3 thousand  3 tens 8 ones 2 tenths and 1 hundredths in figures.




	18.
	Find the volume of the cube.


  




	19.
	6 gal 3 qt x 8 = __________ gal __________ qt




	20.
	Express 2.150 as a fraction in its simplest form.




	21.
	Express 4 + 
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 as a decimal.






	22.
	Round off 55.055 to the nearest hundredth.






	23.
	List the first 2 common multiples of 9 and 5.



	24.
	Find the value of   280 × 40.





	25.
	A concert ended at 12 pm.  It lasted 3h 45 min.

At what time did the concert start?



	26.
	In the following figure, PQS is a straight line.

Find (RQS.







	27.
	Find the quotient of 225 divide by 25.  Then multiply this quotient by 10. The answer is __________.





	28.
	Mrs. Weins earns $5050 every month.  He spends $3290 and saves the rest.  How much does he save in half a year?





	29.
	Find the area of the shaded part of the figure shown below.












	30.
	What fraction of the figure is unshaded?






	31.
	There are _________ sixths in 2
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	32.
	10 muffins and a cupcake cost $21.  The cupcake cost $1.25.  How much does each muffin cost?




	33.
	Mrs. Johnson bought 20 crates of oranges.  There were 28 oranges in each crate.  She repacked them into boxes of 8 each.  How many boxes of oranges did she get?




	34.
	2.037 = 2 + 
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What is the missing number in the box?



	35.
	Pears are sold at 4 for $2.40.  How much must Ana pay for 18 pears?





	Section C ( 30 marks )

Questions 36 to 40 carry 6 marks each. For each of the following problem sum, show your work clearly in the space provided.




	36.
	A rectangular tank is 26 cm long, 16 cm wide and 11 cm high is filled with water to a depth of 8 cm. How many more millimeters of water is needed to fill up the tank? (1 ml = 1 cm3)

Ans: ______________(6)




	37.
	1 kg of fish cost $12 and 1 kg of prawns cost $25. Mrs. Mark bought 2.9 kg of fish and 2.8 kg of prawns.

(a) How much did she have to pay altogether?

(b) How much change did she receive if she paid $100?
 
  

Ans: a) ______________(4)

 b) ______________(2)

	38.
	Jim starts work every morning at 9:30 am and finishes at 5:30 pm in the afternoon.  He is paid $20 an hour. 

(a) How much does he earn in a week if he works 5 days per week?

(b) If Jim spends $100 every week, how much will he save in 3 weeks?

Ans: a) ______________(3)

b) ______________(3)

	39.
	Alex spent 
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 of her savings on a pair of shoes and 
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 of her savings on a fountain pen.

(a) What fraction of her savings was spent?

(b) If the fountain pen cost $26, how much did the shoes cost?

(c) How much savings did Alex have in the first place?

Ans: a) ______________(1)

b) ______________(3)

c) ______________(2)




	40.
	The bar graph shows the number of people who visited the National Museum for five days.  Study the graph carefully and answer the questions that follow.
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(a) On which days were the number of visitors the same?
(b) If there were 188 children at the National Museum on Saturday, how many adults were there?
(c) What fraction of the total number of visitors visited the National Museum on Friday?
 
  
Ans: a) ______________(1)

b) ______________(2)

c) ______________(3)
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Answer Key

	1
	4
	11
	3
	21
	0.436
	31
	14
	39a
	5/9

	2
	4
	12
	3
	22
	55.06
	32
	$1.975
	39b
	$39

	3
	2
	13
	4
	23
	45,90
	33
	70
	39c
	$117

	4
	1
	14
	3
	24
	11,200
	34
	100
	40a
	Wed & Fri

	5
	4
	15
	4
	25
	8.15pm
	35
	$10.80
	40b
	112

	6
	2
	16
	1
	26
	135°
	36
	4064ml
	40c
	3/25

	7
	3
	17
	3038.21
	27
	810
	37a
	$94.8
	
	

	8
	2
	18
	15625cm3
	28
	$10260
	37b
	$5.2
	
	

	9
	3
	19
	54gal 0qt
	29
	80cm2
	38a
	$800
	
	

	10
	1
	20
	43/50
	30
	½
	38b
	$2100
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